INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & for (f) = 13a (respondent is only counted once); cols, F & I = 13b; cols, H & K = 13c.	TITLE OF INFORMATION COLLECTION DOCUMENT	омв но.
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (I)Average	Vegetable and Specialty Crop Marketing	0581-0178
years, list as "1/6" & decimal will display.	Orders	July 31, 2007

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR	BACKGROUND QUESTIONNAIRE/NOMINEE QUESTIONNAIRE				0.00		0.00			0.00
932.29(a) and	932 - Olives Producer Nominee Questionnaire	COC-150	16	0.5000	8.00	0.1000	0.80			0.00
932.28 and 932.29(b)	Handler Nominee Questionnaire	COC-149	16	0.5000	8.00	0.1000	0.80			0.00
946.26	946 - Washington Potatoes	FV-41	18	0.3333	6.00	0.0830	0.50			0.00
947.27	947 - Oregon/California Potatoes	FV-61	28	0.5000	14.00	0.0830	1.16			0.00
959.22	959 - South Texas Onions	FV-90	17	0.5000	8.50	0.0830	0.71			0.00
966.27	966 - Florida Tomatoes	FV-283	24	1.0000	24.00	0.0830	1.99			0.00
984.38	984 - California Walnuts (Growers and Handlers)	FV-124	18	0.5000	9.00	0.0830	0.75			0.00
	SUBTOTAL				77.50		6.70	0.00		0.00
	TOTAL OF ALL PAGES				168,968.24		15,985.50	630.00		922.88
тотл	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				169,598.24		16,908.38			

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & 70° (D) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(F)Total/(I)Total = (I)Average
(F)Total/(I)Total = (E)Average
(F)Total/(I)Total = (E)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

ОМВ NO. 0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN					vanc 10, 2007			
IDENTIFIC	SATION OF REPORTING OR RECORDINEEPING REQUIREMENT	1									
				REPORTS					RECORDS		
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	(Col. I x J)	
REGS.		SO State)		RESPONDENT	(Coi. D x E)	RESPONSE	(Col. F X G)	KEEPERS	KEEPER	(C01.1 x 3)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 984.38	BACKGROUND QUESTIONNAIRE/NOMINEE QUESTIONNAIRE (cont'd.) 984 - California Walnuts (Public Member)	FV-125	2	0.5000	1.00	0.0830	0.08			0.00	
987.24	987 - California Dates	FV-285	18	0.5000	9.00	0.1670	1.50			0.00	
993.27	993 - California Dried Prunes (Committee Nominee)	FV-165	42	0.5000	21.00	0.0830	1.74			0.00	
993.27	993 - California Dried Prunes (Public Member)	FV-166	2	0.5000	1.00	0.0830	0.08			0.00	
945.25 945.26	BACKGROUND QUESTIONNAIRE/NOMINEE QUESTIONNAIRE (with Acceptance Statement included) 945 - Idaho/E. Oregon Potatoes	FV-133	16	0.5000	8.00	0.0830	0.66			0.00	
94854	948 - Colorado Potatoes	FV-52	38	0.5000	19.00	0.0830	1.58			0.00	
953.18	953 - Southeast Potatoes	FV-109	24	1.0000	24.00	0.1000	2.40			0.00	
955.22	955 - Vidalia Onions (Producer & Producer/Handler)	FV-174	8	1.0000	8.00	0.1700	1.36			0.00	
	SUBTOTAL				91.00		9.41	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & 70° (D) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(F)Total/(I)Total = (I)Average
(F)Total/(I)Total = (E)Average
(F)Total/(I)Total = (E)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

ОМВ NO. 0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
		1			REPORTS				RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)		
7 CFR 955.22	BACKGROUND STATEMENT/NOMINEE QUESTIONNAIRE (with Acceptance Statement included) (cont'd.) 955 - Vidalia Onions (Public Member)	FV-175	2	1.0000	2.00	0.1700	0.34			0.00		
956.24	956 - Walla Walla Onions (Producer/Handler)	FV-112	18	0.3333	6.00	0.0830	0.50			0.00		
956.24	956 - Walla Walla Onions (Public Member)	FV-115	2	0.3333	0.67	0.0830	0.06			0.00		
958.22	958 - Idaho/E. Oregon Onions (Producer/Handler)	FV-32	20	0.5000	10.00	0.0830	0.83			0.00		
958.22	958 - Idaho/E. Oregon Onions (Public Member)	FV-33	2	0.5000	1.00	0.0830	0.08			0.00		
981.34	981 - California Almonds (Handler Nominee Questionnaire)	FV-177	10	1.0000	10.00	0.0330	0.33			0.00		
981.34	981 - California Almonds (Producer Nominee Questionnaire)	FV-176	10	1.0000	10.00	0.0330	0.33			0.00		
982.34	982 - Hazelnuts (Producer/Handler)	FV-138	18	0.5000	9.00	0.0500	0.45			0.00		
982.34	982 - Hazelnuts (Public Member)	FV-139	2	0.5000	1.00	0.0500	0.05			0.00		
	SUBTOTAL				49.67		2.97	0		0.00		

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & 70° (D) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(F)Total/(I)Total = (I)Average
(F)Total/(I)Total = (E)Average
(F)Total/(I)Total = (E)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO. 0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
				REPORTS				RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)	
7 CFR 985.23	BACKGROUND QUESTIONNAIRE (with Acceptance Statement included) (cont'd.) 985 - Spearmint Oil (Producer Member/Alternate Member)	FV-57	14	0.5000	7.00	0.0300	0.21	V		0.00	
985.23	985 - Spearmint Oil (Public Member/Alternate Member)	FV-58	2	0.5000	1.00	0.0300	0.03			0.00	
989.30 989.32	989 - California Raisins (Handlers)	FV-219	23	0.5000	11.50	0.1000	1.15			0.00	
	989 - California Raisins (Public Member)	FV-220	2	0.5000	1.00	0.1000	0.10			0.00	
	989 - California Raisins (Growers)	FV-222	70	0.5000	35.00	0.1000	3.50			0.00	
932.25 932.28	COMMITTEE BALLOTS/NOMINATIONS 932 - Olives - Producer Nomination Ballot (Districts 1-4; form numbers respectively)	FV-269, 273, 274 & 275	850	0.5000	425.00	0.0830	35.28			0.00	
	955 - Vidalia Onions Voter Registration Sheet	No form number	50	1.0000	50.00	0.0830	4.15			0.00	
	955 - Vidalia Onions Election Ballot	No form number	50	1.0000	50.00	0.0830	4.15			0.00	
	SUBTOTAL				580.50		48.57	0		0.00	

 $\label{eq:local_continuous_cont$

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

Vegetable and Specialty Crop Marketing Orders

TITLE OF INFORMATION COLLECTION DOCUMENT

ОМВ NO. 0581-0178

(F)Total/(J)Total = (J)Average
(K)Total/(J)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

DATE PREPARED

	& decimal will display.								June 18, 2007		
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT	-				ANN	IUAL BURDEN				
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 982.32	COMMITTEE BALLOTS/NOMINATIONS (cont'd.) 982 - Hazelnuts (Growers)	F/H Form F(2)	750	0.5000	375.00	0.0500	18.75			0.00	
982.32	982 - Hazelnuts (Handler, Position 4)	F/H Form F(3)	17	0.5000	8.50	0.0500	0.43			0.00	
982.32	982 - Hazelnuts (Handler, Position 1-3)	F/H Form F(4)	3	0.5000	1.50	0.0500	0.08			0.00	
984.37 984.437	984 - Walnuts (District One)	No Form number	1,728	0.5000	864.00	0.0830	71.71			0.00	
984.37 984.437	984 - Walnuts (District Two)	No Form number	1,152	0.5000	576.00	0.0830	47.81			0.00	
984.37	984 - Walnuts (Independent Handler's Ballot)	No Form number	55	0.5000	27.50	0.0830	2.28			0.00	
987.24	987 - Dates (Voter Eligibility)	No Form number	105	0.5000	52.50	0.0830	4.36			0.00	
987.24	987 - Dates (Producer Ballot)	No Form number	105	0.5000	52.50	0.0830	4.36			0.00	
987.24	987 - Dates (Handler Ballot)	No Form number	11	0.5000	5.50	0.0830	0.46			0.00	
987.24	987 - Dates (Committee Nomination Form)	No Form number	11	0.5000	5.50	0.0830	0.46			0.00	
	SUBTOTAL				1,968.50		150.68	0		0.00	

 $\label{eq:local_$

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average$

(F)Total/(I)Total = (I)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN				·			
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 989.29	COMMITTEE BALLOTS/NOMINATIONS (cont'd.) 989 - Raisins (Voluntary Independent Producer's Statement)	No Form number	70	0.5000	35.00	0.0830	2.91			0.00	
989.29	989 - Raisins (Independent Producer's Ballot)	FV-223	1,200	0.5000	600.00	0.2000	120.00			0.00	
993.28(a) 993.128	993 - California Dried Prunes	No Form number	500	1.0000	500.00	0.0170	8.50			0.00	
932.28	LETTER OF ACCEPTANCE 932 - Olives (no burden, only signature & address required)	No Form number			0.00		0.00			0.00	
946.26	946 - Washington Potatoes (Signature only, no burden)	No Form number	18	0.3333	6.00		0.00			0.00	
947.27	947 - Oregon/California Potatoes (Signature only, no burden)	No Form number	28	0.5000	14.00		0.00			0.00	
955.24	955 - Vidalia Onions (Signature only, no burden)	No Form number	10				0.00			0.00	
959.29	959 - Texas Onions (Signature only, no burden)	No Form number	17	0.5000	8.50		0.00			0.00	
	SUBTOTAL				1,163.50		131.41	0		0.00	

 $\label{localization} \begin{tabular}{ll} \textbf{INSTRUCTIONS:} & Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. \\ \end{tabular}$

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

(K)Total/(I)Total = (J)Average

counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

vegetable and special

TITLE OF INFORMATION COLLECTION DOCUMENT

June 18, 2007

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS NO OF RESPONSES PER TOTAL HOURS (Col. F x G) RECORD-KEEPING HOURS (Col. I x J) FORMS NO (S) NO. OF TOTAL ANNUAL HOURS NO. OF ANNUAL SECTION OF DESCRIPTION RECORD-KEEPERS HOURS PER SPONDENT RESPONSES (Col. D x E) (If "none" PER RESPONSE so state) REGS. RECORD-RESPONDENT KEEPER (C) (E) (F) (G) (H) (J) (D) (I) (K) (A) 7 CFR LETTER OF ACCEPTANCE (cont'd.) No Form 966 - Florida Tomatoes 24 1.0000 24.00 0.00 0.00 number 966.29 (Signature only, no burden) 984 - California Walnuts No Form 984.39 20 0.5000 10.00 0.00 0.00 (Signature only, no burden) number 987 - California Dates No Form 987.25 18 0.5000 9.00 0.00 0.00 (Signature only, no burden) number 993 - California Dried Prunes No Form 993.31 0.5000 22.00 0.00 0.00 44 (Signature only, no burden) number MARKETING AGREEMENT/HANDLER AGREEMENT 900.14 FV-235 0.03 0.00 0.1667 0.33 0.0830 932 - Olives 900.14 945 - Idaho/E. Oregon Potatoes FV-132 48 0.1667 8.00 0.0830 0.66 0.00 900.14 946 - Washington Potatoes FV-40 45 0.1667 0.0830 0.62 0.00 7.50 SUBTOTAL 80.84 1.31 0 0.00 INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: $\cos(s, (D) \log r(D)) = 13a$ (respondent is only counted once); $\cos(s, E) \approx 1 = 13b$; $\cos(s, E) \approx 1 = 13b$.

 $\label{eq:continuous} \textbf{(F)Total/(D)Total} = \textbf{(E)Average} \qquad \textbf{(H)Total/(F)Total} = \textbf{(G)Average}$

(F)Total/(J)Total = (J)Average
(K)Total/(J)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

ОМВ NO. 0581-0178

DATE PREPARED

				1 2000 2007							
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
				REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
900.14	MARKETING AGREEMENT/HANDLER AGREEMENT (cont'd.) 947 - Oregon/California Potatoes	FV-79	18	0.1667	3.00	0.0830	0.25			0.00	
900.14	948 - Colorado Potatoes	FV-51	95	0.1667	15.84	0.0830	1.31			0.00	
900.14	953 - Southeastern Potatoes	FV-111	12	0.1667	2.00	0.0830	0.17			0.00	
900.14	955 - Vidalia Onions	FV-155	75	0.1667	12.50	0.0830	1.04			0.00	
900.14	956 - Walla Walla Onions	FV-113	28	0.1667	4.67	0.0830	0.39			0.00	
900.14	958 - Idaho/E. Oregon Onions	FV-31	38	0.1667	6.33	0.0830	0.53			0.00	
900.14	959 - South Texas Onions	FV-89	38	0.1667	6.33	0.0830	0.53			0.00	
	SUBTOTAL				50.68		4.21	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document	involves multiple reporting a
recordkeeping requirements. The totals of the figures in cols. should be entered in	item 13 of OMB-83-1:
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b;	cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average$

(K)Total/(I)Total = (I)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

and TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

ОМВ NO. 0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
	1			REPORTS							
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
				RESPONDENT	_				KEEPER		
7 CFR 900.14	MARKETING AGREEMENT/HANDLER AGREEMENT (cont'd.) 966 - Florida Tomatoes	(C) FV-69	(D) 70	0.1000	(F) 7.00	(G) 0.0830	(H) 0.58	(1)	(3)	0.00	
900.14	981 - California Almonds	FV-180	115	0.1667	19.17	0.0830	1.59			0.00	
900.14	982 - Hazelnuts	FV-137	18	0.1000	1.80	0.0830	0.15			0.00	
900.14	984 - Walnuts	FV-127	44	0.1667	7.33	0.0830	0.61			0.00	
900.14	985 - Spearmint Oil	FV-63	10	0.1667	1.67	0.0830	0.14			0.00	
900.14	987 - California Dates	FV-73	10	0.1667	1.67	0.0830	0.14			0.00	
900.14	989 - California Raisins	FV-225	23	0.1667	3.83	0.0830	0.32			0.00	
	SUBTOTAL				42.47		3.53	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols, should be entered in item 13 of OMB-83-1:	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.		0581-0178
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average		0001 0170
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.		DATE PREPARED

June 18, 2007 ANNUAL BURDEN IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT REPORTS RECORDS TOTAL ANNUAL RESPONSES (Col. D x E) FORMS NO (S) (If "none" so state) TOTAL HOURS (Col. F x G) RECORD-KEEPING HOURS (Col. I x J) NO. OF RESPONDENTS NO OF RESPONSES PER HOURS PER RESPONSE NO. OF RECORD-KEEPERS ANNUAL HOURS PER RECORD-SECTION OF REGS. DESCRIPTION RESPONDENT KEEPER (C) (E) (F) (G) (H) (1) (J) (B) (D) (K) 7 CFR MARKETING AGREEMENT/HANDLER AGREEMENT (cont'd.) FV-169 20 0.1000 2.00 0.0830 0.17 0.00 993 - California Dried Prunes 900.14 CERTIFICATE OF RESOLUTION 900.14 FV-235-A 2 0.1667 0.33 0.0830 0.03 0.00 932 - Olives 900.14 945 - Idaho/E. Oregon Potatoes FV-132A 45 0.1667 7.50 0.0830 0.62 0.00 900.14 946 - Washington Potatoes FV-40A 45 0.1667 7.50 0.0830 0.62 0.00 900.14 947 - Oregon/California Potatoes FV-79A 0.00 18 0.1667 3.00 0.0830 0.25 900.14 948 - Colorado Potatoes FV-51A 95 0.1667 15.84 0.0830 1.31 0.00 900.14 953 - Southeastern Potatoes FV-111A 60 0.1667 10.00 0.0830 0.83 0.00 900.14 956 - Walla Walla Onions FV-113A 28 0.1667 4.67 0.0830 0.39 0.00 SUBTOTAL 50.84 4.22 0 0.00 INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average$

(K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

OMB NO.

DATE PREPARED

İ	IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT						1			
İ						REPORTS				RECORDS	
	SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	7 CEP	OFFICIAL OF PERCHAPTON (*	FV-31A	38	0.1667	6.33	0.0830	0.53			0.00
	900.14	959 - South Texas Onions	FV-89A	15	0.1667	2.50	0.0830	0.21			0.00
	900.14	982 - Hazelnuts	FV-137A	18	0.1000	1.80	0.0830	0.15			0.00
	900.14	984 - California Walnuts	FV-127-A	48	0.1667	8.00	0.0830	0.66			0.00
	900.14	985 - Spearmint Oil	FV-63A	10	0.1667	1.67	0.0830	0.14			0.00
	900.14	989 - California Raisins	FV-225-A	10	0.1667	1.67	0.0830	0.14			0.00
	900.14	993 - California Dried Prunes	FV-169A	1	0.1000	0.10	0.0830	0.01			0.00
		SUBTOTAL				22.07		1.83	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

OMB NO

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS						
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 900.403 932.68	PRODUCER REFERENDUM 932 - Olives Producer's Referendum Ballot	FV-236	850	0.1667	141.70	0.5000	70.85			0.00	
900.403 945.83	945 - Idaho/E. Oregon Potatoes Producer Referendum Ballot	FV-131	1,000	0.1667	166.70	0.3300	55.01			0.00	
900.403 945.83	945 - Idaho/E. Oregon Potatoes Cooperative Association Referendum Ballot	FV-131A	2	0.1667	0.33	0.3300	0.11			0.00	
	945 - Idaho/E. Oregon Potatoes Cooperative's Certificate of Resolution (Referendum)	FV-131B	2	0.1667	0.33	0.0830	0.03			0.00	
900.403 946.63	946 - Washington Potatoes Producer Referendum Ballot	FV-39	267	0.1667	44.51	0.3300	14.69			0.00	
900.403 946.63	946 - Washington Potatoes Cooperative Association Certificate of Resolution	FV-39A	2	0.1667	0.33	0.3300	0.11			0.00	
900.403 946.63	946 - Washington Potatoes Cooperative's Certificate of Resolution	FV-39B	2	0.1667	0.33	0.0830	0.03			0.00	
900.403 947.71	947 - Oregon/California Potatoes Producer Referendum Ballot	FV-80	213	0.1667	35.51	0.3300	11.72			0.00	
900.403 947.71	947 - Oregon/California Potatoes Cooperative Association Referendum Ballot	FV-80A	1	0.1667	0.17	0.3300	0.06			0.00	
	SUBTOTAL				389.91		152.59	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols, should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(K)Total/(I)Total = (I)Average (H)Total/(F)Total = (G)Average (H)Total/(F)Tot

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 900.403 947.71	PRODUCER REFERENDUM (CONT'D) 947 Oregon-California Potatoes Cooperative's Certification of Resolution	FV-80B	1	0.1667	0.17	0.0830	0.01			0.00
	948 - Colorado Potatoes Producer Referendum Ballot	FV-50	175	0.1667	29.17	0.3300	9.63			0.00
	948 - Colorado Potatoes Cooperative Association Referendum Ballot	FV-50A	2	0.1667	0.33	0.3300	0.11			0.00
	948 - Colorado Potatoes Cooperative's Certificate of Resolution	FV-50B	2	0.1667	0.33	0.0830	0.03			0.00
900.403 953.66	953 - Southeastern Potatoes	FV-110	45	0.1667	7.50	0.3300	2.48			0.00
900.403 955.71(d)	955 - Vidalia Onions Producer Referendum Ballot	FV-156	101	0.1667	16.84	0.3300	5.56			0.00
900.403 956.85	956 - Walla Walla Onions Producer Referendum Ballot	FV-114	35	0.1667	5.83	0.3300	1.93			0.00
	SUBTOTAL				60.18		19.74	0		0.00

INSTRUCTIONS:	Use this	form when a	single information	collection d	ocument invol	ves multiple report	ing and
recordkeeping requir	ements.	The totals of	f the figures in cols.	should be en	ntered in item	13 of OMB-83-1:	
cols. (D) &/or (I) = 1	3a (resp	ondent is onl	y counted once); co	ls. F & I = 1	3b; cols.	H & K = 13c.	

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average$

(F)Total/(I)Total = (I)Average (H)Total/(I)Total = (G)Average (H)Total/(I)Total = (I)Average (H)Total/(I)Total/(I)Total = (I)Average (H)Total/(I

ind TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

омв но.

DATE PREPARED

				Julie 10, 2007							
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
900.403	PRODUCER REFERENDUM (cont'd.) 956 - Walla Walla Onions Cooperative Association Referendum Ballot	FV-114A	1	0.1667	0.17	0.3300	0.06			0.00	
900.403 956.85	956 - Walla Walla Onions Cooperative's Certificate of Resolution	FV-114B	1	0.1667	0.17	0.0830	0.01			0.00	
900.403 958.71	958 - Idaho/E. Oregon Onions Producer Referendum Ballot	FV-30	250	0.1667	41.68	0.3300	13.75			0.00	
900.403 958.71	958 - Idaho/E. Oregon Onions Cooperative Association Referendum Ballot	FV-30A	1	0.1667	0.17	0.0830	0.01			0.00	
900.403 958.71	958 - Idaho/E. Oregon Onions Cooperative's Certificate of Resolution	FV-30B	1	0.1667	0.17	0.0830	0.01			0.00	
900.403 959.84	959 - South Texas Onions	FV-94	114	0.1667	19.00	0.3300	6.27			0.00	
900.403 966.92	966 - Florida Tomatoes Official Producer Ballot	FV-68	100	0.1000	10.00	0.3300	3.30			0.00	
	SUBTOTAL				71.35		23.42	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & xir (i) = 13a (respondent is only counted once); cols. F. & I = 13b; cols. H & xir = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

SUBTOTAL

(K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

June 18, 2007

0.00

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS TOTAL RECORD-FORMS NO (S) NO. OF NO OF TOTAL ANNUAL HOURS TOTAL NO. OF ANNUAL SECTION OF DESCRIPTION (If "none" so state) RESPONSES (Col. I x J) ESPONDENTS RESPONSES PER HOURS RECORD-HOURS PER PER RESPONDENT (Col. D x E) RESPONSE (Col. F x G) KEEPERS RECORD-KEEPER PRODUCER REFERENDUM (cont'd.) 900.14 FV-178 5,000 0.1667 833.50 0.1670 139.19 0.00 981 - California Almonds Producer Referendum Ballot ---900.14 981 - California Almonds 0.03 0.00 FV-179 0.1667 0.17 0.1670 Cooperative's Referendum Ballot 981.92 900.403 982 - Hazelnuts 700 0.1000 0.00 FV-136 70.00 0.3300 23.10 Producer Referendum Ballot 982.86 900.403 982 - Hazelnuts FV-136A 0.1000 0.20 0.3300 0.07 0.00 Cooperative Association Referendum Ballot 982.86 900.403 982 - Hazelnuts FV-136B 0.1667 0.0830 0.03 0.00 0.33 Cooperative's Certificate of Resolution 982.86 900.403 FV-126 and 984 - California Walnuts 4,800 0.1667 800.16 0.3300 264.05 0.00 FV-126-A 984.90 900.14 985 - Spearmint Oil FV-60 0.1667 0.00 Producer's Referendum Ballot 225 37.51 0.3300 12.38 (Amendment and Termination) 985.72 985 - Spearmint Oil 900.402 FV-60A 0.1667 0.17 0.3300 0.06 0.00 Cooperative Association Referendum Ballot

1,742.03

438.90

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.		OMB NO.
(F)Total/(D)Total = (D)Average (H)Total/(F)Total = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6	Vegetable and Specialty Crop Marketing Orders	DATE PREPARED
years, list as "1/6" & decimal will display.		June 18, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
	PRODUCER REFERENDUM (cont'd.)	(0)	(5)	(=)	07	(0)	(1.)	(0)	(5)	(1.)
000 402	OOF Charmint Oil	FV-60-B	1	0.1667	0.17	0.0830	0.01			0.00
900.403	987 - California Dates	FV-72	105	0.1667	17.50	0.3300	5.78			0.00
987.82	1987 - Caliloffila Dates	FV-72	105	0.1667	17.50	0.3300	5.78			0.00
900.403	989 - California Raisins	FV-224	4,000	0.1667	666.80	0.3300	220.04			0.00
989.91	Producer's Referendum Ballot	1 V-224	4,000	0.1007	000.00	0.5500	220.04			0.00
	989 - California Raisins	FV-225-B	4	0.1667	0.67	0.3300	0.22			0.00
989.91	Cooperative Association Ballot									
	993 - California Dried Prunes	FV-167	1,100	0.1000	110.00	0.3300	36.30			0.00
993.90										
900.403	993 - California Dried Prunes Cooperative's Official Ballot	FV-168	1	0.1000	0.10	0.0830	0.01			0.00
945.56; 945.80; 945.122; 934.341 947.55	CERTIFICATE OF PRIVILEGE 945 - Idaho/E. Oregon Potatoes	No Form number	72	1.0000	72.00	0.1700	12.24			0.00
947.130 947.340	947 - Oregon/California Potatoes	No Form number	33	1.0000	33.00	0.0830	2.74			0.00
947.340	SUBTOTAL				900.24		277.34	0		0.00

 $\label{localization} \begin{tabular}{ll} \textbf{INSTRUCTIONS:} Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. \\ \end{tabular}$

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(F)Total/(I)Total = (I)Average
(H)Total/(I)Total = (I)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0178

Vegetable and Specialty Crop Marketing Orders

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDICEPING REQUIREMENT			ANNUAL BURDEN							
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
947.55 947.130 947.340	CERTIFICATE OF PRIVILEGE (cont'd.) 947 - Oregon/California Seed Potatoes	No Form number	17	1.0000	17.00	0.0830	1.41			0.00	
948.24 948.120 948121 948.122	948 - Colorado Potatoes (Area II)	No Form number	20	1.0000	20.00	0.1500	3.00			0.00	
948.24 948.120 948.121 948.122	948 - Colorado Potatoes (Area III)	No Form number	9	1.0000	9.00	0.1500	1.35			0.00	
953.44	953 - Southeastern Potatoes	No Form number	12	1.0000	12.00	0.1500	1.80			0.00	
956.63 956.66 956.80 956.163	956 - Walla Walla Sweet Onions Shippers/Receivers Application for Certificate of Privilege	Form No. 3	10	1.0000	10.00	0.0330	0.33			0.00	
958.56 958.328	958 - Idaho/E. Oregon Onions Application to Make Special Purpose Shipments - Certificate of Privilege	FV-34	20	3.0000	60.00	0.1300	7.80			0.00	
959.122	959 - South Texas Onions	No Form number	15	1.0000	15.00	0.0830	1.25			0.00	
966.120 966.323	966 - Florida Tomatoes Application for Certificate of Privilege	FTC-108	10	1.0000	10.00	0.0830	0.83			0.00	
	SUBTOTAL				153.00		17.77	0		0.00	

 $\label{eq:local_continuity} \textbf{INSTRUCTIONS:} \ \ Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.$

 $(F)Total/(D)Total = (E)Average \qquad (H)Total/(F)Total = (G)Average \\$

(F)Iotal/(I)Iotal = (I)Average (H)Iotal/(F)Iotal = (G)Average (H)Iotal/(F)Iotal = (G)Average (H)Iotal/(I)Iotal = (I)Average (H)Iotal/(I)Iot

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO. 0581-0178

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
932.55 932.155	SPECIAL PURPOSE SHIPMENT 932 - California Olives	COC-155	2	1.0000	2.00	0.3300	0.66			0.00
946.55, 946.122 & 946.336	946 - Washington Potatoes	No Form number	18	56.0000	1,008.00	0.1500	151.20			0.00
947.55, 947.132 & 947.340	947 - Oregon/California Potatoes	No Form number	50	45.0000	2,250.00	0.0830	186.75			0.00
948.24, 948.120, 948.121, 948.124, 948.386 & 948.387	948 - Colorado Potatoes (Area III) (Chipping Potatoes)	No Form number	4	338.0000	1,352.00	0.1500	202.80			0.00
948.24, 948.120, 948.121, 948.124, 948.386 & 948.387	948 - Colorado Potatoes (Area II)	No Form number	20	112.0000	2,240.00	0.1500	336.00			0.00
948.24, 948.120, 948.121, 948.124, 948.386 & 948.387	948 - Colorado Potatoes (Area III) (Other than for Chipping)	No Form number	9	34.0000	306.00	0.1500	45.90			0.00
948.386 948.938	948 - Colorado Potatoes (Area II) (Consideration of Approval as a Canner, Freezer, etc.)	No Form number	2	1.0000	2.00	0.1500	0.30			0.00
948.386 948.387	948 - Colorado Potatoes (Area III) (Consideration of Approval as a Canner, Freezer, etc.)	No Form number	2	1.0000	2.00	0.1500	0.30			0.00
	SUBTOTAL				7,162.00		923.91	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); counted once); cost. F& I = 13b; cols. H& K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(E)Total/(I)Total = (I)Average (E)Total/(I)Total = (E)Average (E)Total/(E)Total = (E)Average (E)Total/(E)Total = (E)Average (E)Total/(E)Total = (E)Average (E)Total/(E)Total = (E)Average (E)Total/(E)Tot

Vegetable and Specialty Crop Marketing Orders

омв но.

0581-0178

DATE PREPARED

				June 18, 2007									
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	UAL BURDEN						
					REPORTS				RECORDS				
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)			
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)			
948.23 948.24 948.24	SPECIAL PURPOSE SHIPMENT (cont'd.) 948 - Colorado Potatoes (Area II) Experimentation Exemption for Potatoes	No Form number	10	50.0000	500.00	0.1500	75.00			0.00			
953.44	953 - Southeastern Potatoes	No Form number	12	8.0000	96.00	0.0830	7.97			0.00			
956.63 956.66 956.80 956.163	956 - Walla Walla Sweet Onions Special Purpose Shipment Report	Form No. 4	10	1.0000	10.00	0.3300	3.30			0.00			
958.56 958.328	958 - Idaho/E. Oregon Onions Special Purpose Shipment Receiver Certification	FV-36	20	1.0000	20.00	0.0300	0.60			0.00			
959.124	959 - South Texas Onions Report of Special Purpose Onion Shipment	No Form number	15	30.0000	450.00	0.0830	37.35			0.00			
959.124	959 - South Texas Onions Report of Special Purpose Onion Shipment	No Form number	10	25.0000	250.00	0.0830	20.75			0.00			
966.122 966.323	966 - Florida Tomatoes Report of Special Purpose Certificate under Certificate of Privilege	FTC-110	15	7.0000	105.00	0.0830	8.72			0.00			
966.124	966 - Florida Tomatoes Application for Registration as an Approved Receiver of Special Purpose Shipments	FTC-111	20	1.0000	20.00	0.0830	1.66			0.00			
956.180	APPLICATION FOR REGISTERED HANDLER 956 - Walla Walla Sweet Onions Walla Walla Sweet Onion Handler Registration Form	Form No. 2	28	1.0000	28.00	0.2500	7.00			0.00			
959.103	959 - South Texas Onions	No Form number	38	1.0000	38.00	0.0830	3.15			0.00			

SUBTOTAL 1,517.00 165.50 0
--

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and record(keeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.					ble and Special				OMB NO. 0581-0178 DATE PREPARE	ĒD
									June	18, 2007
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	RECO KEEPING (Col.
	APPLICATION FOR REGISTERED	(0)	(5)	(12)	(*)	(6)	(1)	(0)	(3)	1)

	IDENTII IO	ATTOMOT RELOCTING OF RECOGNIZED IN O REQUIREMENT					7.0.0.					
						REPORTS			RECORDS			
R	TION OF EGS.	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)	
7 CF 966.1	R 113	APPLICATION FOR REGISTERED HANDLER (cont'd.) 966 - Florida Tomatoes Application for Registration as Tomato Handler	FTC-102	75	1.0000						0.00	
		966 - Florida Tomatoes Application for Certified Tomato Repacker	FTC-103	20	1.0000	20.00	0.0830	1.66			0.00	
932.6	61	RECORDKEEPING 932 - Olives	None			0.00		0.00	2	52.830	105.66	
945.8	80	945 - Idaho/E. Oregon Potatoes	None			0.00		0.00	48	0.420	20.16	
946.7	70	946 - Washington Potatoes	None			0.00		0.00	45	0.660	29.70	
947.8	30	947 - Oregon/California Potatoes	None			0.00		0.00	18	1.080	19.44	
948.8	30	948 - Colorado Potatoes (Area II)	None			0.00		0.00	20	1.080	21.60	
948.8	30	948 - Colorado Potatoes (Area III)	None			0.00		0.00	9	1.080	9.72	
		SUBTOTAL				95.00		7.89	142		206.28	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (I)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 953.75	RECORDKEEPING (cont'd.) 953 - Southeastern Potatoes	None			0.00		0.00	12	0.500	6.00
955.60	955 - Vidalia Onions	None			0.00		0.00	75	0.330	24.75
956.80	956 - Walla Walla Sweet Onions	None			0.00		0.00	28	0.160	4.48
958.65	958 - Idaho/E. Oregon Onions	None			0.00		0.00	38	0.430	16.34
959.80	959 - South Texas Onions	None			0.00		0.00	38	0.160	6.08
966.80	966 - Florida Tomatoes	None			0.00		0.00	70	0.030	2.10
981.70	981 - California Almonds	None			0.00		0.00	115	1.450	166.75
982.71	982 - Hazelnuts	None			0.00		0.00	18	5.000	90.00
	SUBTOTAL				0.00		0.00	394		316.50

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(K)Total/(I)Total = (I)Average (K)Total/(E)Total = (G)Average (Vegetable and Specialty Crop Marketing Orders

DATE PREPARED

June 18, 2007

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT

ANNUAL BURDEN

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
984.80	RECORDKEEPING (cont'd.) California Walnuts	None			0.00		0.00	44	1.000	44.00
984.480										
985.61	985 - Spearmint Oil	None			0.00		0.00	10	1.500	15.00
987.168	987 - California Dates	None			0.00		0.00	10	0.500	5.00
989.176	989 - California Raisins	None			0.00		0.00	20	16.800	336.00
993.59 993.159 993.173 993.150(c) (1)(vi)	993 - California Dried Prunes (Reporting requirements are currently suspended)	None			0.00		0.00	0		0.00
993.162	993 - California Dried Prunes (Reporting requirements are currently suspended)	None			0.00		0.00	0		0.00
999.1(1)	999 - Imported Dates	None			0.00		0.00	10	0.010	0.10
932.51(a)(1) (i) 932.151(b) 932.151(d) (2)	932 - OLIVES Weight and Grade Report	COC-3c	2	3000.0000	6,000.00	0.2500	1,500.00			0.00
932.152(c)	Pack and Certification Report	COC-4	2	80.0000	160.00	0.1600	25.60			0.00
	SUBTOTAL				6,160.00		1,525.60	94		400.10

INSTRUCTIONS: Use this form when a single information collection document involv recordkeeping requirements. The totals of the figures in cols. should be entered in item 1		TITLE OF INFORMATION COLLECTION DOCUMENT	омв но.
cols. (D) &/or (f) = 13a (respondent is only counted once); cols. F& I = 13b; cols. H (F)Total/(D)Total = (E)Average (H)	H & K = 13c.	Vegetable and Specialty Crop Marketing Orders	0581-0178
(K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other		vegetable and Specially Crop Marketing Orders	
years, list as "1/6" & decimal will display.			DATE PREPARED
			June 18, 2007
			Julie 16, 2007
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN	

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
932.51 932.151(e)	932 - OLIVES (cont'd.) Report of Limited, Undersized, and Cull Olives	COC-5	2	50.0000	100.00	0.5000	50.00			0.00
932.54 932.154(a)	Report of Interhandler Transfer	COC-6	2	5.0000	10.00	0.3300	3.30			0.00
932.29	Statement of Assessable Tonnage	COC-13	2	1.0000	2.00	0.5000	1.00			0.00
932.139	Final Assessment Payment	COC-17	2	1.0000	2.00	0.5000	1.00			0.00
932.61 932.161(a)	Weekly Report of Olives Received	COC-19	2	9.0000	18.00	0.5000	9.00			0.00
932.61 932.161(b) 932.61	Report of Ripe Olives Sales	COC-21	2	12.0000	24.00	0.2500	6.00			0.00
932.151(f) (3) 932.161	Grower Authorization to Combine Lots	COC-23	2	1.0000	2.00	0.1000	0.20			0.00
932.161 932.161(d) (1)	Inventory Holdings of Canned Ripe Olives	COC-27a	2	24.0000	48.00	0.7500	36.00			0.00
	SUBTOTAL				206.00		106.50	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f" & decimal will display.

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

			June 18, 2007							
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
932.61 932.161(d) (2), (e)(2)	932 - OLIVES (cont'd.) Inventory Holdings of Limited Use Olives	COC-27b	2	12.0000	24.00	0.5000	12.00			0.00
932.61 932.161(e) (1)	Report of Canning Size Olives in Storage	COC-27c	2	12.0000	24.00	0.6600	15.84			0.00
932.61 932.161(f) (1)	Packout Report of Canned Ripe Olives	COC-28a	2	24.0000	48.00	0.7500	36.00			0.00
932.61 932.161(f) (2)	Packout Report of Canned Ripe Olives - Limited Use	COC-28b	2	12.0000	24.00	0.7500	18.00			0.00
932.61 932.161 (b)(2)(i)	Sales of Canned Ripe Olives	COC-29a	2	24.0000	48.00	0.7500	36.00			0.00
932.61 932.161 (b)(2)(ii)	Sales of Canned Ripe Olives - Limited Use	COC-29b	2	12.0000	24.00	0.5000	12.00			0.00
932.61	Interhandler Sale or Purchase of Canned Ripe Olives	COC-30	2	5.0000	10.00	0.1600	1.60			0.00
945.56										
945.80 945.124 945.341	945 - IDAHO/E. OREGON POTATOES Receiver's Certificate of Use	No Form number	66	1.0000	66.00	0.0830	5.48			0.00
	SUBTOTAL				268.00		136.92	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(F)Iotal/(I)Iotal = (E)Average (H)Iotal/(F)Iotal = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

OMB NO.

DATE PREPARED

			Julie 10, 2007								
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN				
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 945.56 945.80 945.124 945.341	945 - IDAHO/E. OREGON POTATOES (cont'd.) Certificate of Privilege Shipment Summary (Handlers and Receivers)	No Form number	72	1.0000	72.00	0.1700	12.24			0.00	
945.80 945.341	Destination Zip Code and Quantity Reporting Requirement	No form required	62	12.0000	744.00	0.1700	126.48			0.00	
945.80 945.341	Destination Zip Code and Quantity Reporting Requirement	No form required	62	1500.0000	93,000.00	0.0027	251.10			0.00	
945.56 945.80 945.341	Potato Committee Application Form for Consideration of Approval as a Canner, Freezer, or other Processor or Preparer of Potato Products for Special Purpose Shipment Reports	No Form number	2	1.0000	2.00	0.1500	0.30			0.00	
946.60 946.132	946 - WASHINGTON POTATOES Shipper's Application for Modification of Inspection Privilege - Potatoes	No Form number	2	2.0000	4.00	0.0830	0.33			0.00	
946.70	Inspection Certificate Failing Marketing Order Requirements	No Form number	8	6.0000	48.00	0.0830	3.98			0.00	
946.55 946.120 946.180	Potato Committee Application Form for Consideration of Approval as a Canner, Freezer, or other Processor or Preparer of Potato Products	No Form number	2	1.0000	2.00	0.0830	0.17			0.00	
	SUBTOTAL				93,872.00		394.60	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(F)Total/(J)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

OMB NO.

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
7 CFR	946 - WASHINGTON POTATOES (cont'd.)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
946.60 946.131	, ,	No Form number	2	1.0000	2.00	0.0830	0.17			0.00	
946.55 946.120 946.336	Shipper's Application for Special Purpose Certificate	No Form number	21	1.0000	21.00	0.0830	1.74			0.00	
947.41 947.80 947.180	947-OREGON/CALIFORNIA POTATOES Oregon/California Potato Committee Handler Statement	No Form number	18	12.0000	216.00	0.5000	108.00			0.00	
947.134	Application for Establishment of Approved Manufacturers Classification	No Form number	2	1.0000	2.00	0.0830	0.17			0.00	
947.134	Report of Anticipated Shipment to Receiver not on Approved Manufacturers List	No Form number	2	1.0000	2.00	0.0830	0.17			0.00	
947.340		No Form number	1	1.0000	1.00	0.0500	0.05			0.00	
947.340		No Form number	1	25.0000	25.00	0.1700	4.25			0.00	
	SUBTOTAL				269.00		114.54	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document in recordkeeping requirements. The totals of the figures in cols. should be entered in ite cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; col (F)Total/(I)Total = (I)Average (F)Total/(I)Total = (I)Average (NoTE: The columns will calculate automatically. If Col. Es response is something years, list as "1/16" & decimal will display.	m 13 of OMB-83 ls. H & K = 13c. (H)Total/(F)Total	-1: = (G)Average		BMATION COLLECTION				ОМВ NO. 0581-0178	
years, list as 1/0 & deciliar will display.								DATE PREPARE	D
								June	18, 2007
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN						
		REPORTS					RECORDS		
	FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-

IDENTIFIC	CATION OF REPORTING OR RECORDINEE ING REQUIREMENT		ANIOAL BONDEN								
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
948.30 948.130	948 - COLORADO POTATOES Exemptions Application (No information is currently being collected)	No form number	2		0.00		0.00			0.00	
955.60	955 - VIDALIA ONIONS Vidalia Onion Handler Report	FV-181	75	3.0000	225.00	0.0830	18.68			0.00	
956.80 956.180	956 - WALLA WALLA SWEET ONIONS Handler's Statement of Walla Walla Sweet Onion Shipments	FV-141	28	1.0000	28.00	0.6666	18.66			0.00	
958.56 958.180	958 - IDAHO/E. OREGON ONIONS Onion Diversion Report (merging 0581-0241, upon approval)	FV-35	20	100.0000	2,000.00	0.1300	260.00			0.00	
958.328	Fresh Cut Report (merging 0581-0241, upon approval)	FV-37	5	60.0000	300.00	0.0830	24.90			0.00	
958.42 958.240 958.250	Assessment Credit Report (merging 0581-0241, upon approval)	No Form number	35	20.0000	700.00	0.1300	91.00			0.00	
	959 - SOUTH TEXAS ONIONS										
959.115	Onion Acreage Registration	No Form number	38	9.0000	342.00	0.0830	28.39			0.00	
959.126	Certification for Handling Onions for Processing (Canners and/or Freezers)	No Form number	15	1.0000	15.00	0.0830	1.25			0.00	
	SUBTOTAL				3,610.00		442.87	0		0.00	

recordkeeping rec	S: Use this form when a single information collection document in uirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b;			TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	VΤ		OMB NO.	
	al = (J)Average mns will calculate automatically. If Col. E's response is somethin & decimal will display.			Vegeta	ble and Special	ty Crop Ma	arketing Orders		0581-0178	
									DATE PREPARE	:D
									June	18, 2007
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN			
		1			REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
7 CFR 959.126	959 - SOUTH TEXAS ONIONS (cont'd.) Certification for Subcontractors who Peel and/or Chop Onions for Processors for Special Purpose Onion Shipments	No Form number	2	1.0000	2.00	0.0830	0.17			0.00
959.126	Relief or Charity Certification for Handling Onions which Fail to Meet the South Texas Onion Rules and Regulations	No Form number	5	1.0000	5.00	0.0830	0.42			0.00
	966 - FLORIDA TOMATOES									
966.323(e)	Tomato Total Lot Manifest	No Form number	50	248.0000	12,400.00	0.0830	1,029.20			0.00
981.55 981.455(a)	981 - CALIFORNIA ALMONDS Interhandler Transfer of Almonds	ABC 7	50	5.0000	250.00	0.5000	125.00			0.00
981.72 981.472(a)	Report of Receipts (Summary Report)	ABC 1	115	12.0000	1,380.00	0.5000	690.00			0.00
981.73 981.473	Redetermination Report	ABC 2	115	3.0000	345.00	0.5000	172.50			0.00

14,382.00

2,017.28

0.00

SUBTOTAL

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	TITLE OF INFORMATION COLLECTION DOCUMENT	омв но.
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.	e Vegetable and Specialty Crop Marketing Orders	0581-0178
уенъ, пъсаз 1/6 «с иеспиаг wiii църдау.		DATE PREPARED
		June 18, 2007

IDEN	TIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS				RECORDS		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-	
SECTION O REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER RESPONDENT	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD- KEEPER	(Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 981.73 981.473	981 - CALIFORNIA ALMONDS (cont'd) Current Inventory for Next Redetermination Report	ABC 2A	115	3.0000	345.00	0.2500	86.25			0.00	
981.74 981.474(a	Report of Shipments and Commitments	ABC 25-1	115	12.0000	1,380.00	0.5000	690.00			0.00	
981.74 981.474(a	Shipments by Country of Destination	ABC 25-2	115	12.0000	1,380.00	0.5000	690.00			0.00	
981.74 981.474(b	Intention to Ship Reserve Almonds	ABC 13	23	1.5000	34.50	0.2000	6.90			0.00	
981.74 981.474(b	Completion of Disposition of Reserve Almonds	ABC 14	23	2.0000	46.00	0.2000	9.20			0.00	
981.441(e	Claim for Credit-Back Advertising Activities	None	20	20.0000	400.00	0.0830	33.20			0.00	
981.441(e (6) (iv)	Statement of Outstanding Credit-Back Commitments at End of Crop Year	None	10	1.0000	10.00	0.0830	0.83			0.00	
981.442(a	Inedible and Exempt Outlet Disposition - Notice of Delivery to Oil or Feed	ABC 8	115	3.5300	405.95	0.5000	202.98			0.00	
	SUBTOTAL				4,001.45		1,719.36	0		0.00	

TRUCTIONS: Use this form when a single information collection document involves multiple reporting and ridkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (0) &/or (1) = 13a (respondent is only counted onc); cols. F & 1 = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (F)Total/(E)Total (E)Total = (G)Average (F)Total/(E)Total/		TITLE OF INFORMATION COLLECTION DOCUMENT Vegetable and Specialty Crop Marketing Orders	ОМВ NO. 0581-0178		
					DATE PREPARED June 18, 2007
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN			
			REPORTS	RECORDS	

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
					REPORTS							
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)		
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(0)	KEEPER (J)	(K)		
7 CFR	981 - CALIFORNIA ALMONDS (cont'd.) Documentation to Accompany	None	43	9.4400	405.92	0.0330	13.40			0.00		
981.442(a) (7) 981.442(a)	ABC Form 8	No Form	40	1 0000	42.00	0.0000	2.57			0.00		
(7) 981.441(a)	Application to be Approved as an Assented	number ABC 34	43	1.0000	43.00	0.0830	3.57			0.00		
(7)	User of Inedible Almonds and Almond Waste		43	1.0000	43.00	0.0830	3.57			0.00		
981.455(b)	Withholding Obligation Transfer	ABC 11	23	1.3000	29.90	0.2500	7.48			0.00		
981.455(c) 981.67	Aganay Agraement Dianceitian of Decemberto	ABC 9	10	1.0000	10.00	0.5000	5.00			0.00		
981.467	Non-Competitive Outlets	ABC 12	115	1.0000	115.00	0.1670	19.21			0.00		
981.474	Handler Information Sheet	ABC 42	115	1.0000	115.00	0.2500	28.75			0.00		
	SUBTOTAL				761.82		80.96	0		0.00		

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

	IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
						REPORTS				RECORDS	
	SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 ((A) CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	2.37	982 - HAZELNUTS Statement of Expense	F/H Form H	18	2.0000	36.00	0.0500	1.80			0.00
982 982		Report of Hazelnut Certifications Shipments and Diversion Requirements	F/H Form 1	18	5.0000	90.00	0.2500	22.50			0.00
982 982	2.50 2.66 2.450 2.466	Free Tonnage Shipments	F/H Form 1(a)	18	4.0000	72.00	0.2500	18.00			0.00
982 982	2.50 2.66 2.450 2.466	Export Inshell Shipments	F/H Form 1(b)	18	4.0000	72.00	0.2500	18.00			0.00
982 982	2.50 2.66 2.450 2.466	Kernels Certified	F/H Form 1(c)	18	4.0000	72.00	0.2500	18.00			0.00
982 982	2.50 2.66 2.450 2.466	Restricted Inshell Certified	F/H Form 1(d)	18	1.0000	18.00	0.2500	4.50			0.00
		SUBTOTAL				360.00		82.80	0		0.00

recordkeeping req	S: Use this form when a single information collection document in juirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b;	TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	NT		омв но.			
	al = (J)Average al = (J)Average mis will calculate automatically. If Col. E's response is something & decimal will display.			Vegeta	ble and Special	ty Crop Ma	arketing Orders		0581-0178	
									DATE PREPARE	ED 18, 2007
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	NUAL BURDEN			
					REPORTS		1		RECORDS	1
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER RESPONDENT	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD- KEEPER	(Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
982.50 982.66 982.450 982.466	982 - HAZELNUTS (cont'd.) Kernel Shipments	F/H Form 1(e)	12	4.0000	48.00	0.2500	12.00			0.00
982.68 982.467	Receipt & Disposition of Hazelnuts Produced Outside the U.S.	F/H Form 1(f)	5	2.0000	10.00	0.2500	2.50			0.00
982.50 982.450	Declaration of Inshell Hazelnuts	F/H Form 4	6	1.0000	6.00	0.3300	1.98			0.00
982.52 982.452	Export Agreement	F/H Form A	2	1.0000	2.00	0.2500	0.50			0.00
982.52										

1.0000

1.0000

1.0000

1.0000

12

15

0.5000

0.0830

0.1600

0.3300

12.00

15.00

2.00

1.00

96.00

6.00

1.25

0.32

0.33

24.88

0

0.00

0.00

0.00

0.00

0.00

F/H Form B

F/H Form 3

F/H Form 7

Sheller's Application for Letter of Authority

Request for Transfer of Excess Restricted Credits

Report of Disposition of Restricted Set-aside Inshell Hazelnuts

Application to be listed as an Accepted User of Inedible Hazelnuts and Hazelnut Waste

SUBTOTAL

982.452 982.52 982.460

982.52 982.67 982.450 982.452 982.466

982.53

982.453

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (f) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.					MATION COLLECTION		OMB NO.			
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average							0581-0178			
NOTE: The colu years, list as "1/6"	umns will calculate automatically. If Col. E's response is something '& decimal will display.	other than annual	lly, i.e., 1/6	Vegetal	ble and Special	y Crop Ma	rketing Orders			
									DATE PREPARE	D
									June :	18, 2007
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN		!	
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF REGS.	DESCRIPTION	so state)	RESPONDENTS	RESPONSES PER RESPONDENT	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD- KEEPER	(Col. I x J)
7 CFK	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
982.53	982 - HAZELNUTS (cont'd.) Hazelnut Waste Product Control Report	F/H Form D(1)	1	1.0000	1.00	0.0830	0.08			0.00
982.54 982.454	Bonding Undertaking	F/H Form C	5	1.0000	5.00	0.5000	2.50			0.00
982.54	Bond	F/H Form	5	1.0000	5.00	0.5000	2.50			0.00
982.454		C(1)								
982.54		F/H Form	_							
982.454	Form for Justification of Sureties	C(2)	5	1.0000	5.00	0.5000	2.50			0.00
982.54	Acknowledgement of Bonding Requirement	F/H Form	5	1.0000	5.00	No burden	Form generated by	/ Board.		0.00
982.454		C(3)					- <i>′</i>	ı		
982.55 982.56 982.455 982.456	Exchange of Merchantable Inshell Between Handlers	F/H Form 2	5	1.0000	5.00	0.0830	0.42			0.00

26.00

8.00

SUBTOTAL

0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & 2/0; Cols. 1, D & 2/0; Cols. 1, D & 4/0;					TITLE OF INFOR	RMATION COLLECTION	ON DOCUMEN	ІТ		омв но.		
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.					Vegeta	ble and Special	ty Crop Ma	rketing Orders		0581-0178		
										DATE PREPARE	18, 2007	
	IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN				
						REPORTS				RECORDS	TOTAL	
	SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	RECORD- KEEPING HOURS	
	REGS.	(B)	so state) (C)	(D)	PER RESPONDENT (E)	(Col. D x E) (F)	RESPONSE (G)	(Col. F x G) (H)	KEEPERS (I)	RECORD- KEEPER (J)	(Col. I x J) (K)	
	7 CFR	982 - HAZELNUTS (cont'd.) Report to Hazelnut Marketing Board of Handler Carryover on	F/H Form 5	18			0.3300	5.94		(6)	0.00	
	982.65 982.468	Crop Hazelnuts Received, Disposed of or on Hand as of	F/H Form 6	18	2.0000	36.00	0.5000	18.00			0.00	
		984 - CALIFORNIA WALNUTS District 1 Independent Walnut Grower's Petition	No Form number	4	0.5000	2.00	1.0000	2.00			0.00	
		District 2 Independent Walnut Grower's Petition	No Form number	4	0.5000	2.00	1.0000	2.00			0.00	

0.5000

1.0000

1.5000

58.0000

55

40

55

1.0000

0.0830

0.0830

0.2500

2.00

55.00

60.00

3,190.00

3,365.00

2.00

4.57

4.98

797.50

836.99

0

0.00

0.00

0.00

0.00

0.00

984.37

984.437

984.56

984.456

984.56

984.56 984.456

Petition

At Large Independent Walnut Grower's

Export Agreement for Reserve Walnuts

Request for Transfer of Reserve Credits

Consummation of Sale and Transmittal of Supporting Documents

No Form

WMB-16

WMB-17

WMB Export Form B

SUBTOTAL

number

recordkeeping req	S: Use this form when a single information collection document in uirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b; co	TITLE OF INFOR	OMB NO.							
(K)Total/(I)Tot NOTE: The colu	(F)Total/(D)Total = (E)Average	(H)Total/(F)Tota		Vegeta	ble and Special	0581-0178				
, , , , , , , , , , , , , , , , , , , ,								DATE PREPARE	ED.	
									June	18, 2007
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	NUAL BURDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
984.64	984 - CALIFORNIA WALNUTS (cont'd.) Application to be an Approved User of Substandard Walnuts (Non-	WMB 24-05 (NRY)	7	1.0000	7.00	0.0830	0.58			0.00
984.56	Reserve Year)									
984.64 984.464	Application to be an Approved User of Substandard Walnuts (Reserve Year)	WMB 24-10 (RY)	7	1.0000	7.00	0.0830	0.58			0.00
984.56	Report of Substandard Walnuts Received (Non-Reserve Year)	WMB 24-15 (NRY)	7	1.0000	7.00	0.2500	1.75			0.00
984.64	Substandard Walnut User Agreement (Reserve Year)	WMB 24-20 (RY)	7	1.0000	7.00	0.2500	1.75			0.00
984.464 984.56	(1000.100 1000)	()								
984.64	Report of Substandard Walnuts Delivered	WMB 20	55	7.3400	403.70	0.0830	33.51			0.00
984 464										
984.71	Inventory Report as of	WMB 4 & 5	55	6.0000	330.00	0.1700	56.10			0.00
984.471	(Inshell and Shelled)	WWID 4 & S		0.0000	300.00	0.1700	30.10			0.00
984.72										
984.472	Report of Merchantable Walnuts Shipped	WMB 6	55	12.0000	660.00	0.1700	112.20			0.00
984.73 984.473	Crop Acquisition Report, by County and Variety, for Crop Year	WMB 1	55	1.0000	55.00	0.0830	4.57			0.00

1,476.70

0

211.03

0.00

SUBTOTAL

	iS: Use this form when a single information collection document in quirements. The totals of the figures in cols, should be entered in it			TITLE OF INFOR	RMATION COLLECTION	ON DOCUMEN	IT		OMB NO.	
		ols. H & K = 13c.				0581-0178				
NOTE: The colu	tal = (J)Average umns will calculate automatically. If Col. E's response is something		` , "	Vegeta	ble and Special	ty Crop Ma	rketing Orders		DATE PREPARE	:D
years, list as "1/6	" & decimal will display.									
									June	18, 2007
IDENTIFI	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN		•	
					REPORTS				RECORDS	TOTAL
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	RECORD- KEEPING HOURS
REGS.	(B)	so state) (C)	(D)	PER RESPONDENT (E)	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER (J)	(Col. I x J) (K)
7 CFR	984 - CALIFORNIA WALNUTS (cont'd.)		(b)	(E)	(F)	(G)	(H)	(1)	(3)	(1)
984.73	Quarterly Report of Receipt of Walnuts Produced Outside the United	WMB 7	6	4.0000	24.00	0.0830	1.99			0.00
984.476 984.59	States									
984.76	Report of Interhandler Transfers	WMB 8	7	5.0000	35.00	0.1700	5.95			0.00
984.459										
985.52, 985.54, 985.56, 985.57, 985.152, 985.156	985 - SPEARMINT OIL Annual Allotment Certificate, Class 1 (also used for filing of deficiency)	No Form number	10	30.0000	300.00	0.1700	51.00			0.00
985.52, 985.54, 985.56, 985.57, 985.152,	Annual Allotment Certificate, Class 3 (also used for filing of deficiency)	No Form	10	37.5000	375.00	0.1700	63.75			0.00

	SUBTOTAL				1,059.00		149.67	0	0.00
	Application for New Allotment Base (Class 3 - Native) (for new producers)	No Form number	50	1.0000	50.00	0.0830	4.15		0.00
985.53 985.153	Application for New Allotment Base (Class 1 - Scotch) (for new producers)	No Form number	50	1.0000	50.00	0.0830	4.15		0.00
985.53 985.153	Application for Additional Base (Class 3 - Native) (for existing producers)	No Form number	125	1.0000	125.00	0.0830	10.38		0.00
985.53 985.153	Application for Additional Base (Class 1 - Scotch) (for existing producers)	No Form number	100	1.0000	100.00	0.0830	8.30		0.00
985.52, 985.54, 985.56, 985.57, 985.152, 985.156	Annual Allotment Certificate, Class 3 (also used for filing of deficiency)	No Form number	10	37.5000	375.00	0.1700	63.75		0.00
985.52, 985.54, 985.56, 985.57, 985.152, 985.156	985 - SPEARMINT OIL Annual Allotment Certificate, Class 1 (also used for filing of deficiency)	No Form number	10	30.0000	300.00	0.1700	51.00		0.00
984.76 984.459	Report of Interhandler Transfers	WMB 8	7	5.0000	35.00	0.1700	5.95		0.00
984.476 984.59	of Walnuts Produced Outside the United States	WMB /		4.0000	24.00				

INSTRUCTIONS: Use this form when a single information recordkeeping requirements. The totals of the figures in cols. cols. (D) &/or (I) = 13a (respondent is only counted once); co	should be entered in item 13 of OME	-83-1:	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
(K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E.	Total = (E)Average (H)Total/(F)T s response is something other than and	. , .	Vegetable and Specialty Crop Marketing Orders	0581-0178
years, list as "1/6" & decimal will display.				DATE PREPARED
				June 18, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN		,	
					REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 985.54 985.154	985 - SPEARMINT OIL (cont'd.) Application for Class 1 (Scotch) Annual Allotment	No Form number	100	1.0000	100.00	0.0830	8.30			0.00
985.54 985.154	Application for Class 3 (Native) Annual Allotment	No Form number	125	1.0000	125.00	0.0830	10.38			0.00
985.55 985.155	Still Form (Class 1 - green) (identification of oil by producer)(same form used for Class 3)	H-1	100	2.0000	200.00	0.3300	66.00			0.00
985.55 985.155	Still Form (Class 3-blue) (identification of oil by producer)(same form used for Class 1)	H-1	125	2.0000	250.00	0.3300	82.50			0.00
985.59	Allotment Base Transfer (same form for both Class 1 and 3)	G-1	25	1.0000	25.00	0.0830	2.08			0.00
987. 15 987.51 987.157 987.57 987.164 987.64	987 - CALIFORNIA DATES Report of Disposition of Product Grade Dates	CDAC-8	11	9.0000	99.00	0.5000	49.50			0.00
987.112(a); 987.112(a)(d)	Clearance for Export of Dates to Mexico	CDAC-11(a)	1	6.0000	6.00	0.3300	1.98			0.00
987.138 987.13	Estimate of Production	CDAC-18	11	1.0000	11.00	0.5000	5.50			0.00
	SUBTOTAL				816.00		226.23	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13h; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
7 CFR 987.147(b)	987 - CALIFORNIA DATES (cont'd.) Delivery Manifest	CDAC SP-1	2	13.0000	26.00	0.2000	5.20			0.00
987.47										
987.151	Interhandler Transfer of Dates	CDAC 1	9	4 0000	26.00	0.2500	0.00			0.00
987.51	Interhandler Transfer of Dates	CDAC-1	9	4.0000	36.00	0.2500	9.00			0.00
987.152(a)	Producer Application for Exemption from Regulations	CDAC-9	6	1.0000	6.00	0.3000	1.80			0.00
987.52										
987.152(a) 987.152(b) (1)	Handler Application for Certain Exemptions from Regulations	CDAC-10	2	1.0000	2.00	0.2000	0.40			0.00
987.152(b) (1) 987.52		No Form number	1	1.0000	1.00	0.2000	0.20			0.00
987.157 987.57	Application to be Placed on the List of Approved Date Product Manufacturers	CDAC-3	16	1.0000	16.00	0.2000	3.20			0.00
987.157 987.165(b)	Date Product Manufacturer's Report	CDAC-4	16	1.0000	16.00	0.5000	8.00			0.00
987.161 987.61	Report of Handler Carry-over	CDAC-5	11	2.0000	22.00	0.5000	11.00			0.00
	SUBTOTAL				125.00		38.80	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (13b) cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 vears, list as "I/6" & decimal will display.	ОМВ NO. 0581-0178
years, use as 20 executing with cusping.	DATE PREPARED June 18, 2007

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.	_	so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	Monthly Report of Acquisition and Disposition of Dates	CDAC-6	11	8.0000	88.00	0.5000	44.00			0.00
987.165(a)	Report of Exempt Sales	CDAC-2	5	1.0000	5.00	0.2000	1.00			0.00
989.66	989 - CALIFORNIA RAISINS Reserve Raisins Bin Control Record	RAC-9	23	12.0000	276.00	0.2000	55.20			0.00
989.66	RAC Storage Bin Agreement	RAC-71	23	1.0000	23.00	0.0830	1.91			0.00
989.67	Disposal of Reserve Raisins - Export Replacement Program Application/ Deposit	RAC-100	23	57.0000	1,311.00	0.1700	222.87			0.00
989.67	Export Program Application for Cash Back	RAC-100C	23	57.0000	1,311.00	0.1700	222.87			0.00
	- Export Transmittal Form	RAC-102	23	57.0000	1,311.00	0.0500	65.55			0.00
	- Application to Purchase Reserve Pool Raisins to Fulfill an "Offer to Sell" Pursuant to Announcement FV	RAC-106	8	3.0000	24.00	0.1700	4.08			0.00
	SUBTOTAL				4,349.00		617.48	0		0.00

recordkeeping recols. (D) &/or (I) (K)Total/(I)Total/(NOTE: The columns	S: Use this form when a single information collection document in quirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b; co (F)Total/(D)Total = (E)Average tal = (J)Average multi-active automatically. If Col. E's response is something & decimal will display.	em 13 of OMB-83 ols. H & K = 13c. (H)Total/(F)Tota	l = (G)Average		MATION COLLECTION		OMB NO. 0581-0178 DATE PREPARED			
										18, 2007
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
]			REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 989.67	989 - CALIFORNIA RAISINS (cont'd.) - Agreement for Voluntary Participation in the RAC Export Programs for	RAC-70	23	1.0000	23.00	0.0830	1.91			0.00
989.156(b)	Raisin Diversion Program - Application for Raisin Diversion Certificate (diversion abortion only)	RAC-1000	950	1.0000	950.00	0.1700	161.50			0.00
989.156(b)	- Application for Raisin Diversion Certificate (vine removal only)	RAC-1000R	23	1.0000	23.00	0.1700	3.91			0.00
989.156(k)	Schedule for Redemption of Raisin Diversion Certificates	RAC-1001	23	13.0000	299.00	0.1000	29.90			0.00
989.157	Raisins Produced from Grapes Grown Outside of California (Handler's Non-California Raisin Certification)	FR-19	4	24.0000	96.00	0.0830	7.97			0.00
989.157	Raisins Produced from Grapes Grown Outside of California (Non-California Raisin)	RAC-510	8	48.0000	384.00	0.0830	31.87			0.00
989.158(A)1 (ii)	Natural Condition Raisins - Notification of Intention to Handle Raisins and Application for Inspection Point	RAC-5	23	1.0000	23.00	0.0830	1.91			0.00

0.00

238.97

0

0.00

1,798.00

0.00

0.00

- Door Receipt or Weight Certificate (Handlers issue these to producers as a normal business practice, therefore, there is no added burden)

SUBTOTAL

989.158(a)

(3)

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO. recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. 0581-0178 (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average Vegetable and Specialty Crop Marketing Orders NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display. DATE PREPARED June 18, 2007 IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS ANNUAL FORMS NO (S) NO. OF NO OF TOTAL ANNUAL HOURS TOTAL NO. OF RECORD-SECTION OF DESCRIPTION RESPONSES RESPONSES HOURS RECORD-HOURS PER KEEPING HOURS REGS. so state) (Col. D x E) RESPONSE (Col. F x G) KEEPERS RECORD-(Col. I x J) RESPONDENT KEEPER (D) 7 CFR 989 - CALIFORNIA RAISINS (cont'd.) - Application and Agreement for 989.158(e) RAC-69 25 1.0000 25.00 0.0830 2.08 0.00 Dehydrator On-Premise Inspection Services Relating to Raisins for the Crop Year Application and Agreement for Inspection of 989.158(f) Raisins at Cooperative Bargaining Association's None 1.0000 2.00 0.0830 0.17 0.00 (1) Receiving Station Regulation of the Handling of Raisins 989.159(b) (2) Subsequent to their Acquisition
- Daily Packout Reports RAC-15 23 208.0000 4,784.00 0.5000 2,392.00 0.00 Regulation of the Handling of Raisins 989.159(f) Subsequent to their Acquisition (con'td) RAC-8 1.0000 1.00 0.1700 0.17 0.00 (2) - Application for Exemption 989.159(g) - Application for Sale, Shipment, or Disposition RAC-35 1.0000 4.00 0.0830 0.33 0.00 of Raisins and Raisin Residual Material - Raisins and Raisin Residual Sales Provisions RAC-36 989.159(g) 1.0000 4.00 0.0830 0.33 0.00 (2) (attachment to Contract) 7 CFR Reserve Tonnage Generally RAC-7 23 52.0000 1,196.00 0.5000 598.00 0.00 - Stack Control Report 989.166(a) 989.166(a) Field Summary of Raisins Held RAC-7A 23 52.0000 1,196.00 0.0500 59.80 0.00

7,212.00

3,052.88

0.00

SUBTOTAL

$\label{local_energy} \textbf{INSTRUCTIONS:} \ \text{Use this form when a single information collection document invorcordkeeping requirements.} \ \text{The totals of the figures in cols. should be entered in item cols. (D) & /or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. \ \text{cols.}$	13 of OMB-83-1:	ng and	TITLE OF INFORMATION COLLECTION DOCUMENT	ОМВ NO.		
(K)Total/(I)Total = (J)Average	e columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		Vegetable and Specialty Crop Marketing Orders	0581-0178		
				DATE PREPARED		
				June 18, 2007		
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN				

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
(4)	989 - CALIFORNIA RAISINS (cont'd.)	(0)	(0)	(E)	(+)	(6)	(1)	(0)	(3)	(11)
7 CFR	Reports	D 4 0 50		4 0000		0.0000				
989.173(a)	Inventory of Free Tonnage Standard Quality Raisins on Hand	RAC-50	23	1.0000	23.00	0.0830	1.91			0.00
989.173(a)	- Inventory of Off-Grade Raisins on Hand	RAC-51	23	1.0000	23.00	0.0830	1.91			0.00
989.173(b) (2)	- Weekly Report of Standard Raisin Acquisitions	RAC-1	23	40.0000	920.00	0.5000	460.00			0.00
989.173(b) (3)	- Weekly Report of Standard Raisins Received for Memorandum Receipt or Warehousing	RAC-3	23	12.0000	276.00	0.2500	69.00			0.00
7 CFR										
989.173(b) (5)	- Weekly Off-Grade Summary	RAC-30	23	26.0000	598.00	0.2500	149.50			0.00
989.173(b) (5)	- Weekly Report of Disposition of Standard Raisins Recovered from Reconditioning of Off- Grade Raisins	RAC-33	23	26.0000	598.00	0.2500	149.50			0.00
989.173(b) (6)	- Processor's Report of Acquisition of Off- Grade Raisins and Raisin Material	RAC-28	12	12.0000	144.00	0.2500	36.00			0.00
989.173(b) (7)	- Monthly Report of Receipt of Raisins Produced from grapes Grown Outside of the "Area"	RAC-500	4	12.0000	48.00	0.0700	3.36			0.00
	SUBTOTAL				2,630.00		871.18	0		0.00

	a single information collection document in of the figures in cols. should be entered in it ally counted once); cols. F & I = 13b;			TITLE OF INFOR	RMATION COLLECTION		ОМВ NO. 0581-0178			
(K)Total/(I)Total = (J)Average	(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average OTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/2			Vegeta	ble and Special	ty Crop Ma	arketing Orders			
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.							DATE PREPARE	ED		
									June	18, 2007
IDENTIFICATION OF REPORTING OR RECORDICEPING REQUIREMENT						ANN	NUAL BURDEN			
				REPORTS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-

IDENTIFI	CATION OF REPORTING OR RECORD KEEPING REQUIREMENT					ANN	IUAL BURDEN			
		1			REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
7 CFR	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	989 - CALIFORNIA RAISINS/REPORTS (cont'd.)	RAC-20	23	12.0000	276.00	0.2500	69.00			0.00
989.173(c) (1)	Monthly Report of Free Tonnage Raisin Disposition	TVAC-20	25	12.0000	270.00	0.2300	03.00			0.00
989.173(c) (1) (iv)	- Monthly Free Tonnage Exports by Country of Destination - Supplement to RAC-20	RAC-21	23	12.0000	276.00	0.2500	69.00			0.00
989.173(c) (2)	- Monthly Report of Disposition of Off- Grade Raisins, Other Failing Raisins, and Raisin Material	RAC-32	23	12.0000	276.00	0.2500	69.00			0.00
989.173(c) (4)	- Processor's Report of Disposition of Off-Grade Raisins and Raisin Material	RAC-28A	12	12.0000	144.00	0.2500	36.00			0.00
989.173(c) (3)	- Monthly Report of Disposition of Raisins Produced from Grapes Grown Outside the "Area"	RAC-501	4	12.0000	48.00	0.0700	3.36			0.00
989.173(d) (1)	- Inter-Handler Transfers of Free Tonnage Raisins	RAC-6	16	6.0000	96.00	0.2500	24.00			0.00
989.173(e)	- Report of Shipments of Experimental or Specialty Packs under Exemption	None	1	1.0000	1.00	0.2500	0.25			0.00
989.11 989.27	Producer Questionnaire	RAC-99	4,000	0.5000	2,000.00	0.0830	166.00			0.00
	SUBTOTAL				3,117.00		436.61	0		0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) & σ (D) = 13a (respondent is only counted once); cols. F & I = 13B, σ cols. H & K = 13C.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (I)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6
years, list as "10f-8" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

									June	18, 2007
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	UAL BURDEN			
				REPORTS				RECORDS		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 989.66	989 - CALIFORNIA RAISINS/REPORTS (cont'd.) Assignment of Pool Equity	None	700	1.0000	700.00	0.0830	58.10			0.00
989.173(f) (3)	Report of the Weighted Average Price Paid to Producers for Free Tonnage Raisins	RAC-55	23	2.0000	46.00	0.0830	3.82			0.00
989.60(c)	Application for Exemption	RAC-75	2	1.0000	2.00	0.0830	0.17			0.00
989.36(d)	Raisin Grower Survey (may be conducted every 3-5 years to collect data on the industry) currently not in use	No Form number	0	0.0000	0.00	0.0000	0.00			0.00
7 CFR 989.173(d)	Organically Produced Raisins: - Inventory of Free Tonnage Standard Quality Organic Raisins on Hand	RAC-50 CO	23	1.0000	23.00	0.0830	1.91			0.00
989.173(d) (1) (ii)	- Inventory of Off-Grade Raisins on Hand	RAC-51 CO	23	1.0000	23.00	0.0830	1.91			0.00
989.173(d) (2)	- Weekly Report of Standard Organic Raisin Acquisitions	RAC-1 CO	23	52.0000	1,196.00	0.0830	99.27			0.00
989.173(d) (3)	- Monthly Report of Free Tonnage Organic Raisins Disposition	RAC-20 CO	23	12.0000	276.00	0.0830	22.91			0.00
989.173(d) (3)	- Monthly Free Organic Tonnage Exports by Country of Destination	RAC-21 CO	23	12.0000	276.00	0.0830	22.91			0.00
	SUBTOTAL				2,542.00		210.99	0		0.00

recordkeeping req	S: Use this form when a single information collection document in uirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b;	em 13 of OMB-83 ols. H & K = 13c.	eporting and 3-1:	TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	IΤ		OMB NO.		
(K)Total/(I)Tot	(F)Total/(D)Total = (E)Average	(H)Total/(F)Tota		Vegeta	ble and Special	ty Crop Ma	rketing Orders		0581-0178		
	& decimal will display.	, ouier uiair aiiiua	ily, i.e., 1/0				DATE PREPARE	D			
									June	18, 2007	
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT						'				
					REPORTS				RECORDS		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS	
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR	993 - CALIFORNIA DRIED PRUNES Reporting requirements for prunes have been suspended indefinitely and are currently not in use.		0	0.0000	0.00	0.0000	0.00			0.00	
993.49											
993.149(d) (3)	- Report of Inventory at Close of Crop Year and Crop Year Activity in High Moisture Content Prunes	PMC 14.5	0	0.0000	0.00	0.0000	0.00			0.00	
993.50; 993.150(e) (1)(ii)	- Application for Permission to Dispose of Substandard Prunes	PMC 2.2	0	0.0000	0.00	0.0000	0.00			0.0	
993.50; 993.150(e) (1)(ii)	- Statement of Proposed Disposition of Substandard Prunes	PMC 2.6	0	0.0000	0.00	0.0000	0.00			0.00	
993.50; 993.150(e)	- Foreign Export - Notice of Receipt of Substandard Prunes for Manufacturing Purposes	PMC 4.72A	0	0.0000	0.00	0.0000	0.00			0.00	
993.50; 993.150(e)	- Foreign Export - Notice of Usage of Substandard Prunes for Manufacturing Purposes	PMC 4.72B	0	0.0000	0.00	0.0000	0.00			0.00	
993.49;											
993.50; 993.150(g) (1)	- Application for Permission to Dispose of Undersized Prunes for Non-Human Usage	PMC 2.21	0	0.0000	0.00	0.0000	0.00			0.00	
993.150(g) (1)	- Handler Request to Extend Undersize Prune Disposition Deadline	PMC 2.41	0	0.0000	0.00	0.0000	0.00			0.0	

SUBTOTAL

0.00

0.00

0

0.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OBhE3a-1: Cols. (D) & Jor (D) = 13a (respondent is only counted once); cols. F & l = 13b; <math>Cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "10f-8" decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

0581-0178

OMB NO.

DATE PREPARED

								June :	18, 2007		
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT										
				REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
993.50 993.150(g) (2)(ii)	993 - CALIFORNIA DRIED PRUNES (cont'd.) - Bill of Lading (NOTE: The completion of this form is a normal business practice, therefore, there is no added burden to the handler).	None			0.00		0.00			0.00	
993.50 993.150(g) (2)(ii)	- User's Receipt of Dried Undersized Prunes for Non-Human Usage	PMC 4.71A	0	0.0000	0.00	0.0000	0.00			0.00	
993.50 993.150(g) (2)(iv)	- User's Certificate of Non-Human Usage of Dried Undersized Prunes	PMC 4.71B	0	0.0000	0.00	0.0000	0.00			0.00	
993.50 993.150(g) (2)(iv)	- Statement of Proposed Disposition of Undersized Prunes	PMC 2.63	0	0.0000	0.00	0.0000	0.00			0.00	
	The reserve pool and voluntary diversion provisions have been suspended until 7/31/08. Therefore, those forms listed below that are affected by these provisions are marked with an asterisk (*)									0.00	
993.57 993.157(e)	Notice of Proposed Intent to Store Reserve Prunes (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 5.1*	0	0.0000	0.00	0.0000	0.00			0.00	
993.58 993.158	- Notification of Desire for Deferment of Reserve Withholding (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 9.1*	0	0.0000	0.00	0.0000	0.00			0.00	
993.59 993.159(b)	- Certificate of Insurance Coverage (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 4.5*	0	0.0000	0.00	0.0000	0.00			0.00	
	SUBTOTAL				0.00		0.00	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

								June	18, 2007		
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT										
					REPORTS				RECORDS		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS	
REGS.	DESCRIPTION	so state)	RESPONDENTS	PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)	
993.73 993.172(e)	993 - CALIFORNIA DRIED PRUNES (cont'd.) - Reserve Prunes Held - Handler (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 4.1*	0	0.0000	0.00	0.0000	0.00			0.00	
993.59	Prune Reserve Tonnage Sales Agreement (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 4.2*	0	0.0000	0.00	0.0000	0.00			0.00	
993.65 993.165	- Request for Replacement of Draft (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 8.44*	0	0.0000	0.00	0.0000	0.00			0.00	
993.65 993.165	Claim for Reserve Pool Proceeds (Reserve forms are currently not in use. Forms will be used when reserve pool is implemented).	PMC 8.443*	0	0.0000	0.00	0.0000	0.00			0.00	
993.62 993.162(c) (1 & 2)	Application for Prune Plum Diversion - Independent Producer (Voluntary Diversion forms are currently not in use)	PMC 10.1A*	0	0.0000	0.00	0.0000	0.00			0.00	
993.62 993.162 (c)	- Application for Prune Plum Diversion - Sunsweet Producer (Voluntary diversion forms are currently not in use).	PMC 10.1B*	0	0.0000	0.00	0.0000	0.00			0.00	
993.62 993.162 (c)	Amendment to Application for Prune Plum Diversion - Independent Producer (Voluntary diversion forms are currently not in use).	PMC 10.2A*	0	0.0000	0.00	0.0000	0.00			0.00	
993.62 993.162 (c)	Amendment to Application for Prune Plum Diversion - Sunsweet Producer (Voluntary diversion forms are currently not in use).	PMC 10.2B*	0	0.0000	0.00	0.0000	0.00			0.00	
	SUBTOTAL				0.00		0.00	0		0.00	

(F)Total/(D)Total = (E)Average (H) (K)Total/(I)Total = (J)Average (NOTE: The columns will calculate automatically. If Col. Es response is something of	13 of OMB-83-1: H & K = 13c.)Total/(F)Total = (G)Average	TITLE OF INFORMATION COLLECTION DOCUMENT Vegetable and Specialty Crop Marketing Orders	OMB NO. U581-U178
years, list as "1/6" & decimal will display.			June 18, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANN	IUAL BURDEN			
					REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 CFR 993.62	993 - CALIFORNIA DRIED PRUNES (cont'd.)	PMC 10.5*	0	0.0000	0.00	0.0000	0.00			0.00
993.162(f)	Diverter's Request for Transferable Prune Plum Diversion Certificates			0.0000	0.00	0.0000	0.00			0.00
993.72 993.172(a)	- Reports of Holding	None	0	0.0000	0.00	0.0000	0.00			0.00
993.72 993.172(b)	- New Crop Supply and Inbound Prune Report	PMC 11.1	0	0.0000	0.00	0.0000	0.00			0.00
993.72 993.172(b) (2)(ii) & (d)(3)	- Recap of Inter-Handler Movements	PMC 11.1A	0	0.0000	0.00	0.0000	0.00			0.00
993.65 993.73 993.165	Reserve Prunes Held by Handler for Animal Feed Disposition	PMC 4.12*	0	0.0000	0.00	0.0000	0.00			0.00
993.59 993.73 993.159	Report of Sorting Charges	PMC 4.6	0	0.0000	0.00	0.0000	0.00			0.00
993.65 993.73 993.165(c)	Converter's Certificate of Dried Prunes for Non-Human Usage	PMC 4.7	0	0.0000	0.00	0.0000	0.00			0.00
993.65 993.73 993.165	Affidavit of Diversion	PMC 4.9*	0	0.0000	0.00	0.0000	0.00			0.00
	SUBTOTAL				0.00		0.00	0		0.00

INSTRUCTIONS:	Use this	form when a	single information	collection docu	ument involve	s multiple reporting and
recordkeeping requi	rements.	The totals of	the figures in cols.	should be ente	red in item 13	3 of OMB-83-1:
cols, (D) &/or (I) = 1	13a (respo	ondent is onl	v counted once); co	ls. F & I = 13b	cols. H	& K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$

(F)Total/(I)Total = (I)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN									
					REPORTS				RECORDS			
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)		
7 CFR 993.65 993.165(b)	993 - CALIFORNIA DRIED PRUNES (cont'd.) Acceptance of Offer to Sell Reserve Prunes and Attached Bidsheet Detail	PMC 6.2* & PMC 6.2F	0	0.0000	0.00		0.00	V	177	0.00		
993.65 993.165	Application for Purchase of Reserve Prunes for Government Purchase	PMC 6.33*	0	0.0000	0.00	0.0000	0.00			0.00		
993.65(a)	Assignment of Pool Equity	PMC 8.2*	0	0.0000	0.00	0.0000	0.00			0.00		
993.62 993.162(c)	Withdrawal of Application for Prune Plum Diversion	PMC 10.13*	0	0.0000	0.00	0.0000	0.00			0.00		
993.62 993.162(f)	Diversion Certificate of Salable Tonnage	PMC 10.3*	0	0.0000	0.00	0.0000	0.00			0.00		
993.72 993.172(d)	- Report of Shipments	PMC 12.1	0	0.0000	0.00	0.0000	0.00			0.00		
993.72 993.172(d)	- Cumulative Prune Export Shipments	PMC 12.1A	0	0.0000	0.00	0.0000	0.00			0.00		
993.73	- Prune Grower Number Assignment	PMC 8.9	0	0.0000	0.00	0.0000	0.00			0.00		
	SUBTOTAL				0.00		0.00	0		0.00		

 $\label{eq:local_continuous_cont$

(K)Total/(I)Total = (I)Average (K)Total/(I)Total = (G)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO

0581-0178

DATE PREPARED

IDENTIF	CATION OF REPORTING OR RECORDICEPING REQUIREMENT		ANNUAL BURDEN									
					REPORTS				RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)		
7 CFR 993.73	993 - CALIFORNIA DRIED PRUNES (cont'd.) - Prune Grower Number Assignment Correction	PMC 8.91	0	0.0000	0.00	0.0000	0.00			0.00		
993.73 993.173	- Other Reports - Independent Handler's Report of Accounting	No Form number	0	0.0000	0.00	0.0000	0.00			0.00		
993.73 993.173(b)	- Cooperative Marketing Association Report of Accounting	No Form number	0	0.0000	0.00	0.0000	0.00			0.00		
993.173(c)	- Report of Carry Over and Marketing Policy Information	PMC 14.1	0	0.0000	0.00	0.0000	0.00			0.00		
993.73	- 20Non-Bearing Prune Acreage Survey	PMC 14.9	0	0.0000	0.00	0.0000	0.00			0.00		
993.59 993.162(d) (1)	Proof of Diversion (Voluntary diversion forms are currently not in use).	None	0	0.0000	0.00	0.0000	0.00			0.00		
993.62 993.162(f) (2)	Notification of Report of Diversion (Voluntary diversion forms are currently not in use).	None	0	0.0000	0.00	0.0000	0.00			0.00		
993.71	Release of Grower Production Information (No burden - only signature, date, and handler name required).	None	0	0.0000	0.00	0.0000	0.00			0.00		
	SUBTOTAL				0.00		0.00	0		0.00		

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average$

(K)Total/(I)Total = (I)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Vegetable and Specialty Crop Marketing Orders

OMB NO.

0581-0178

DATE PREPARED

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
					REPORTS			RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
993.59	993 - CALIFORNIA DRIED PRUNES (cont'd.) Dried Prune Handler Compensation Survey	None	0	0.0000	0.00	0.0000	0.00			0.00
993.162	Prune Dehydrator Survey	None	0	0.0000	0.00	0.0000	0.00			0.00
7 CFR 999.1(e)(2)	999 - Specialty Crops; Import Regulations (Section 8e) Date Form No. 1	FV-191	3	1.0000	3.00	0.0830	0.25			0.00
999.1(e)(3)	Date Form No. 2	FV-192	3	1.0000	3.00	0.0830	0.25			0.00
999.300(e) (2)	Raisin Form No. 1	FV-197	4	24.0000	96.00	0.2500	24.00			0.00
999.300(e) (2) (ii)	Raisin Form No. 2	FV-198	4	24.0000	96.00	0.2500	24.00			0.00
999.200(e) (2)	Prune Form No. 1 (Reporting requirements are currently suspended)	FV-170	0	0.0000	0.00	0.0000	0.00			0.00
999.200(e) (2)	Prune Form No. 2 (Reporting requirements are currently suspended)	FV-171	0	0.0000	0.00	0.0000	0.00			0.00
	SUBTOTAL				198.00		48.50	0		0.00